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Denture retention.

Patients with full dentures have mostly problems of lack of retention with the lower denture. 9 out of 10 times this is because the upper denture has a much wider surface area for support and to develop retention through suction.
 On the other hand, the lower arch/jaw is relatively narrow in shape and doesn't provide nearly as much support or suction. As a result, denture wearers manage by eating soft food and/or aid retention by the use of denture fixatives. 
The most optimum choice would be to replace the removable denture with dental implants but in a lot of cases it is deemed too expensive or there is not enough suitable width of bone present to support the placement of dental implants. There is a way forward, even without replacing your own denture. Cost equals £600.
Simple denture stabilization technique

Free consultation for denture wearers includes large full mouth xray to evaluate bone levels and suitability.

2 implants are placed into the lower arch to help stabilize full lower dentures.

9 out of 10 patients who complain of dentures being unstable are referring to the lower dentures. 


